
Sku# 1558304

Made in China

A B

C

D E

F G

H

2 Piece A1 2 Piece  2 Piece

2 Piece

2 Piece 2 Piece

2Piece 2 Piece

2 Piece I 1 Piece

47.5 in 34.5 in

34 in

880 400  /

F

H 
G

D

A

A1

A1

C

B

E
I

M4

M6 x2.75in - 32Pieces1 M6 x1.57in - 8Pieces2

M3.5 x0.59in - 40Pieces3

M4



A

B

C E

F

G

H

A1

I 3
3

3 3

3

3

M6 x2.75in - 16Pieces1

1
2

3

2 1

2

2

1

1

1

1 1

1 1

1

ASSEMBLY INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

Step 1 Step 2 Step 4

Step 3 Step 5

Step 6 Step 7 Step 9

Step 8 Step 10

Do not stand on table.

This product should only be used on firm,level ground.

F
A1

A

B

G H

M6 x2.75in - 8Pieces1 M6 x2.75in - 8Pieces1

2 M6x1.57inx 8 Pieces

M3.5 x0.59in - 6Pieces3 M3.5 x0.59in - 11Pieces3

M3.5 x0.59in - 12Pieces3 M3.5 x0.59in - 11Pieces3

D


